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Assignment II: MTH 213, Fall 2017

Ayman Badawi

QUESTION 1. (i) Let X be number of broken eggs. Given : a) X is an divisible by 3, b) X ≡ 9 (mod 10), and
X ≡ 6 (mod 13).

a. Find X if 390 ≤ X ≤ 780 [Note that X is divisible by 3 means X ≡ 0 (mod 3)

b. Find X if 1560 ≤ X ≤ 1950

(ii) Convert (26)7 to base 2

(iii) Convert (67012)8 to base 2

(iv) Convert (117)16 to base 8

(v) Convert 93 to base 5

QUESTION 2 (HARD: I will discuss it on Thursday, it will not be on Quiz, note that this question is similar to question

1, 3 of Exam II Spring 2012). Solve over Z : x ≡ 7 (mod 8) , 3x ≡ 1 (mod 4), and x ≡ 35 (mod 36).
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